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3aoanue 1. 1. Ilpouumaiime, nepeseoume (RUCbBMEHHO) CEOYIOUWUIL
meKkcm:

Since the first automobile was introduced to our life, we can notice that there
are a lot of changes happened around us. As a modern transportation, it not only
brings convenience to our daily life, but also enhances the efficiency.

One of advantages of using automobiles is that it can give the users much
more convenience compared with other transportations, suchas bikes or buses. For
me, | like to go to the supermarket once per week and normally buy many foods at
one time. Can you imagine that | need to carry a lot of foodstuff and maybe take a
crowded bus to reach home? How inconvenient it is! Supposethat | have a car, and
then | will feel very easy because what | need to do is to put all my stuff at the
back of the car.

On the other hand, automobiles can save our time and energy. Driving the
automobile, we can go wherever we want to go. We can reach the destination
faster than other transportation means. We can use the saved hours to enjoy the
views or do anything that we want. After all, time means a lot to modern people. It
can mean money to businessmen, knowledge to school students and profit to
companies. By means of cutting time with the help of automobiles, we can increase
the efficiency of our society.

Of course, | must admit that automobiles bring a lot of problems such as
traffic jam and air pollution. But these outcomes cannot be avoided during the
development of a society. I believe we will have a better solution to solve all these
problems soon.



Generally speaking, | would like to say automobiles have improved modern
life through providing more convenience to people and increasing efficiency. We
should encourage the society to support the automobile industry and develop
different kinds of automobiles to meet various needs.

2. Ilepeseoume cnedyroujue npeonoxicenus, cooepiricaujue pasmvle gopmol

Cpae6eHéenus:

1. Diesel engines use not so much fuel as petrol engines.
2.  The lightest of the engines is a two-stroke engine.
3. Diesel engines are much safer than petrol engines because there is less

danger of fire.

4.  The speed of this passenger car is great as of that one.

3aoanue 2. Bviboepume npaguivbHbulii 6apuanm omeema:

1. Theman __ to work every day.

He  ahbus to get there.

a) goes, takes b) go, take

C) goes, take d) go, takes

2. She always___ lunch at college.

a) have b) has c) haves d) hav

3. Richard's life in Paris is a bit difficult. He
only English.

a) speak b) speaks c) speaking d) spoke

4. What's the matter? You __ very sad.

a) looks b) looking c) look d) looked

5. The building of the trade centre (begin) a month
ago.

a) begins b) begined c) began d) begin

6. It (be) slippery yesterday. | (change) the tires of
my car.

a) is, change b) was, changing

c) was, changed d) is, changed

7. The postman (bring) the morning mail only at
10 o'clock.

11. Wewent ___last holiday.

a) to climb b) climbing

c) for climbing d) to climbing

12. Who ___ Phil with his homework?

a) does help b) helps c) do help d) has help

13. Fiona never buys expensive clothes,
_?

a) does Fiona b) doesn’t she

c¢) does she d) don’t she

14. People _ their lives worrying about
money.

a) are spending b) spend

c) have spent d) has spent

15. Jill __ long brown hair and big blue
eyes.

a) is having b) has got

¢) have got d) are having

16.1 _ what you’re talking about.

a) don’t wunderstand b) am not

understanding



a) brings b) bring c) bringed d) brought
8. Tomorrow it cold and wet.

a) are b) will be c¢) is d) was

9. He___fifty in June.

a) is b) are c) will be d) were

10. It's too darkto go. | a taxi.

a) will call b) calls c) wills call d) calling

¢) not understanding d) are not understand
17. In his youth, he _ very lazy.

a) was being b) have been c) was d) were
18. How many people __ in The Second
World War?

a) did die b) has died c) died d) had died
19. How longago 7

a) did they marry b) has they married

c) they married d) married they



